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2019 1
2 4

194
5

6
7 8

1)
1 2

3 4
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2 P3. ( )
( =3.84, =1.01) 

P4. ( =3.72,
=1.00) (t(175)=2.595,p<.0

5) P1. ( =3.69,
=0.95) (t(175)=2.680,p<.01)

P7. ( =
3.81, =1.00) P6.

( =3.63, =0.91) (t
(174)=3.188,p<.01) P9. (
=3.48, =1.18) (t(175)=3.651,
p<.01) P8.
( =3.78, =1.00) P9.

(t(175)=3.418,p<.01)
P5. ( =3.42, =1.

08) (t(175)=4.184,p<.01)
 

P2. ( =3.21, =1.10)
P5.
(t(141)=2.344,p<.05) P9.

(t(175)=3.097,p<.
01) P5.

P6.
(t(173)=2.923,p<.01) P1.
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(t(174)=3.2
34,p<.01)  

3 P10.
( =3.64, =1.02) P

11. ( =3.35, =1.02
1) (t(174)=4.679,p<.01)

P10.
P7.

(t(175)=2.121,p<.05)
P5.
(t(174)=2.323,p<.05) P13.

(t(175)=2.737,p<.01)
P11.
P6.

(t(173)=3.734,p<.01)
P11.
P12. ( =3.18, =1.10)

(t(174)=2.320,p<.05) P14.
( =3.15, =0.91)

(t(173)=2.517,p<.05)  

4 P13.
( =3.39, =1.07) P12.

(t(175)=2.9
61,p<.01) P14. (
=3.15, =0.91) (t(174)=3.059,
p<.01) P15. (
=3.30, =0.91) P14.

(t(174)=2.731,
p<.05) P12.

(t(175)=2.185,p<.01)  
P18. ( = 

2.65, =1.07) P20.
( =2.81, =1.10)

(t(175)=2.409,p<.05) P19.
( =3.01, =1.14)

(t(175)=5.890,p<.01) P20.
 

P19. (t(1
76)=2.992,p<.01) P21.

(t(174)=3.576,
p<.01)  
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1 21

5 ( =
3.62, =0.76)

( =3.49, =0.93)
(t(1

72)=2.238,p<.05) (
=3.07, =0.80)

(t(171)=10.575,
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p<.01)
(t(172)=16.01

8,p<.01)  
   

 
1 21

t
9 (N=39)

(N=131) P1 8 P10 15
P17 21 2

3
 

2:
1:

P1 5 P10 12 P15 17 P19
20

3: 1:
P1 5 P9

13 P16 21
 
P9. 3: ( =

3.81, =1.05) 2:
( = 3.28, =1.21) (t(15

3)=2.917,p<.01) P20.
2:

( = 3.09, =1.15) 3:
( =2.74, =0.93) (t(14

2.81)=2.100,p<.05) P9 P20
2: 3:

 

t
10 P2 P4 P5 P7 P8 P

11 P20

 
 

 

11 P4.
P7.

P3. ( ) P8.

P1.
P2. P9.
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